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Question 3 
 
6 points (1 + 1 + 1 + 2 + 1) 

 
(a) 1 point: 

• One point is earned for identifying the market as an oligopoly, since there are only two 
firms and their actions are mutually interdependent. 

 
(b) 1 point: 

• One point is earned for stating that Rankin Wheels will choose early departure. 
 
(c) 1 point: 

• One point is earned for stating that Roadway’s dominant strategy is early departure. 
 

(d) 2 points: 
• One point is earned for stating that early departure is not a dominant strategy for 

Rankin Wheels. 
• One point is earned for reasoning that if Roadway chooses a late departure, Rankin 

Wheels is better off choosing a late departure. 
 
(e) 1 point:  

• One point is earned for identifying $900 as Rankin Wheels’ daily profit.  
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AP® MICROECONOMICS 
2007 SCORING COMMENTARY 

 
Question 3 

 
Overview 
 
The purpose of the question was to determine students’ understanding of basic game-theory concepts. 
 
Sample: 3A 
Score: 6 
 
The student earned all points in this question. 
 
Sample: 3B 
Score: 4 
 
The student lost 1 point in part (a) for incorrectly identifying the market structure. The student lost 1 point in 
part (d) for an inadequate explanation of why leaving early is not Rankin Wheels’ dominant strategy. 
 
Sample: 3C 
Score: 2 
 
The student earned 1 point in part (c) for stating correctly Roadway’s dominant strategy and 1 point in part 
(d) for concluding correctly that leaving early is not Rankin Wheels’ dominant strategy. 
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